Wheel Lock

I_Attachlng Hardware r

Accessories

Wheel Locks Before 2/15/03

Right side
Wheel Lock shown

tem Quantity Per
Number | Note | Part Number |Description Package | Assembly
1 1021406 Screw, Hex Head (1/4-20 x 1-1/4") 1 1
2 47376X024 Tip, Rubber Wheel Lock Handle, Black 1 1
3 1018733-NLA | NLA - Link, Stop, Black 1 1
4 1026103 Washer, Nylon (1/4 x 1/2 x 1/32") 1 8
5 1106326-NLA | NLA - Spacer Nylon (17/64 x 1/2 x 7/16") 1 1
6 7930333 Locknut (1/4-20) 25 4
7 1057912-NLA | NLA - Bracket, Black 1 1
8 1106325-NLA | NLA - Spacer Nylon (17/64 x 1/2 x 3/4") 1 1
9 1021405-NLA | NLA - Shoe, Wheel Lock 1 1
10 1028414 Handle, Wheel Lock, Black - Right/ Left 1 1
11 7930326-NLA | NLA - Package, Screw, Hex Head (1/4-20 x 3/4") 25 2
12 1030949 Screw, Hex Head (1/4-20 x 1-1/2") 1 1
13 1106300 Wheel Lock Assembly without Attaching Hardware 1 1
Right
13 1106301 Wheel Lock Assembly without Attaching Hardware 1 1
Left
14 7930326-NLA | NLA - Package, Screw, Hex Head (1/4-20 x 3/4") 25 1
15 1018739 Washer (1/4 x 5/8 x 3/32") 1 1
A 1108624-NLA | NLA - Wheel Locks with Attaching Hardware (pair) 2 1
NOTE: A - Not Shown.




